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Chapter: Probability Class: XII
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Choose the correct option (1 X15=15)

If the event A and B are independent, then P{AMNB) is equal 1o
(a) P(a) + P(b)

(b) P(a) — P(b)

(c) P(a). P(b)

(d) P(a) | P(b)

If P(a) = é and P(ANB) = %, then P(B/A) is equal
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If P(ANB) = g and P(b) = %. then P(A|B) equals
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D3} = —L P(h) = -~ and P(AURY = - (BIAY + P(AIR)
IfP(a) = 10 P(b) = i and P(AuB) = 10 then P (B|A) + P(A|B) equals
(a)
(b)
(c)
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(3) = % P(b) = 1—?['] and P (ANB) = % then P (A1B"). P(B'A) is equal to
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If P(a) = 04, P(b) = 0.8 and P(B|A) = 0.6 then P(AuB) is equal to
(a)0.24

(b) 0.3

(c) 0.48

(d) 0.96

A and B are events such that P(a) = 0.4, P(b) = 0.3 and P(AuB) = 0.5. Then P(BNA) equals

You are given that A and B are two events such that P(b) = % PIAIB) = % and P (AuB) = %, then P(a) equals

(a)
(b)
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If P(b) = 3, P(AIB) = 3 and P(AUB) = 2 then P (AUB) + P (AUB) =
|a)
(b)
(c)
(d)

Question 10.
3

If A and B are two independent events with P(a) = £ and P (b) = %. then P (ANB’) equals

| eabs] = e | e o =

Question 11.

Let A and B two event such that P(a) = %, Plb) = % and P(AuB) = %.T"IE"I P(AIB).P(AIB) is equal to
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Question 12.

LetP(a) = % B(b) = 1—% and P (AuB) = 1—%_ Then P(A'B) is equal to

(a)

(b)
(c)
(d)
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The probability that A speaks truth is % while this probability for B is %_ The probability that they contradict
each others when asked to speak ana fact is
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Question 15.

A pair of dice are rolled. The probability of obtaining an even prime number on each dice is
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